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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Generalised conclusion on the basis of a sample is technically known as :
U A9H % AT U AHEES Hehd T ' H AE] S B

Options :

Statistical inference
1 v 'J:I";I‘_;J].};'JT P:‘.. 5= 512

Descriptive statistic

TUTATEE ATHS
2. % '

Data analysis and interpretation
5 % OC1 [ESEET S TR

All of the three
% TS
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Question Label : Multiple Choice Question

The protocol of asking pre-meditated questions in instruments of data collection is :
OOF T0E & I0HOT O E-OeReal UsH IS H OEE 2o

Options :

Structured

= Ok

1.¢

Unstructured

5w S

Free-rein

3 % i

Systematic
.

FrafeEr
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Question Label : Multiple Choice Question

Survey research is cross-sectional and therefore :
FHEV] AT TR-AJTEA AR FERY

Options :
High in replicability but low in internal validity
v MiaEid O 3= @ik Ak guar T %

High in internal validity but low in reliability

ZQVWW%WEWWHJWWETH

High in ecological validity but low in external validity

_ Bl e e e s = M = e i e e i s L ==

None of the three

| o T E T A
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Question Label : Multiple Choice Question

Testing hypothesisisa..........
Tiehe=T T § o

Options :

Inferential statistics

Descriptive statistics

0 % TUHATHE  HTRZAHT

Data preparation
3 % FEEH W AN

Data analysis
4 % TOF P TGO
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Question Label : Multiple Choice Question

Inductive logic proceeds from:
AN F 96 FTTEL 561 & ¢

Options :
General to General

,wWﬁW

Particular to General
5 o (@S9 F HE

General to Particular
3 % AEE H Aa

Particular to Particular
4 % ST I TS
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Question Label : Multiple Choice Question

The sampling technique based on referral system of respondents is known as :
TECGIAIEAT FI THIA U] U AT WA= e a%AE B S Al
Options :

mp

Convenience Sampling

L% EEEIInERE]

Snowball Sampling
2. \/ m [A :r ! H Tq‘]q

Cluster Sampling
5 x AYE O

Stratified Sampling
4 % TAg Ul=A4
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Question Label : Multiple Choice Question

Analysing the impact of demonetization on economic growth falls under which category

of research ?

A T T A< & udaE # faeereer e e A ergEe el

Note: For this question, discrepancy is found in question/answer. Full Marks is
being awarded to all candidates.

Options :
Descriptive Research

| TUETDE ST

Fundamental Research
) Oifeh &7

Pure Research

SFE ST

Casual Research

4 EARR Il |
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Question Label : Multiple Choice Question

Likert scaling is based on :

forhe T e o

Options :

Item-wise scale
| v Te-FH IO T

Summative scale

Reflective scale

3:“ Tdad 94+ 97T

Formative scale

4 % TTIEE TN T
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Question Label : Multiple Choice Question



A research design appropriate for a particular research problem, usually involves the
consideration of the following factors : i
AT fefatas wEw o7 = e S o

(a) The means of obtaining information
TFAT AT e AT

(b) The availability and skills of the researcher

STIeTRAT 1 SUeTeae AT FHiem

(c) The nature of the problem to be studied
AL ® AM I WS T O

(d)

The availability of time and money for the research work
g1 ®/E & fam |mE AT a9 @ Iuee
Options :

(@), (b) and (d)
| % (a), (by =17 (d)

(a), (hyand (c)
Q (a), (b) FTT (c)

(a), (b), (chrand (d)

3 (a), (b), (c) HTT (d)

(b}, (c) atld {dy
(b), (c) HATT (d)
4. %
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Question Label : Multiple Choice Question
SHODHGANGOTRLs:
SHODHGANGOTRI £ :

Options :

Database of articles

Database of thesis & dissertation

5 % 112 £x gCe pallhel 1 5 e o s 5 M A o 2

Database of research synopsis
3 v r;'.v = ]rT‘l:iﬁj T4 R B2 ::P:[

Database of experts

4 % TISEE HSEEAA
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Question Label : Multiple Choice Question

Which of the following statements about random sampling method is nof true 7
AMGI=0® RS T&d & a7 O Herarad O F 391 79 J8f = ¢

Note: For this question, discrepancy is found in question/answer. Full Marks is

being awarded to all candidates.
Options :



In this methods, each unit has equal chance to be selected.

ISHW T U= 3EE F 99T £ T "0 STEET 6 2 |

Each sample has equal chance of selection. )
U OResl § =9 W FREET 99 Sl 2

It is free from personal prejudices and bias
A= HRHT QEEEenEAT AR UsgE # Ifed =@ £ |

This method is very simple to use
TE = TAN B T AT A 2
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Question Label : Multiple Choice Question

The English word 'Research’ derives its origin from :
IS stex T’ (sTra) @ =g =
Options :

Latin

French

German
5 O

Italian
IC ’1 Bl
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Question Label : Multiple Choice Question

Which of the following approach uses the study of groups to identify general laws that
apply to a large group of people ?

A0 H HI-AT IR AET T FE A9 TL @A B Al SeT a6
TES EH W O CHWOEl & ASET 1 OI0AR Bl = 7

Options :

Idiographic Approach

STEAMNSS (TEUTE) S HIvl

Nomothetic Approach
SHEfeE (FrErTes,) SR

2.9

Empirical Approach
3 % AT FEERITT

Pragmatic Approach
TR g
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Question Label : Multiple Choice Question

In the context of Research Process, the following operational steps are taken in certain

order :
ATHEE U & Hed H, efoiEd e =wer o MieEg e o
Tam o o

(A) Conceptualising the research design
ST SATTH FN ST |

(B

Formulating a research problem
ST O @/l I3 |

(C) Selecting a sample
miaesl @ = |

(D

Constructing an instrument for data collection
O HOE F 0 AHE A H AT

Which of the following options represents the correct order ? i

1o o e e = = = 1 O | M =7 = = = e 7 B ) e 1 e = o |
Options :

|« B.ADC

, % BDAC

; % B.CAD

4 % B.CD.A
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Question Label : Multiple Choice Question

Impact factor of a journal is defined as :

1 w=e & o9 W (Impact factor) T 59 ORI OGS TRAT TET 2 G

Note: For this question, discrepancy is found in question/answer. Full Marks is

being awarded to all candidates.

Options :

It is the monthly average number of citations that articles published in the last twelve
months in a given journal received

7% ThE KU oS a ¥ fUmd ans gEE O uwieE @ #Oanes

1.

It is the yearly average number of citations that articles published in the last four

years in a given journal received

q= QAT g O fomer =T oAt O Owiem orEl # dnds A
o IRETIT T B

It is the yearly average number of citations that articles published in the last two

years in a given journal received

7% T U o SEw O fTee < 99 O owne ol B angs H e
5 ST A B

It is the yearly average number of citations that articles published in the last five

years in a given journal received

AT G S WEER O fUeel O gul O USmnee oAl ® g ATES
4, SEET FEAT
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Question Label : Multiple Choice Question



The three basic principles of experimental design are :

IR ® AT & o4 Oodd e =
Options :

Replication, randomization and Substitution
TR ST, YweUIE e U HFggsT

1. ®

Replication, randomization, and local control

- TEIRS, e OESTe UF Wb e

Substitution, replication and local control
TELCHeE, TR 0F TAha B

3. %

Substitution, randomization and local control
AT, Treai359= Ug Tk Frold

4%
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Question Label : Multiple Choice Question

Differences in the means of more than two treatments are analysed by :
< H Afaw STEE F wer § e @ geauer T S

np

Options :

Simple t-test
| w SrETTT F-TET

Chi square test

Zﬁmmﬂm TT T

F-test

_TE

Paired sample t-test

. g v -t
4. % 3
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Question Label : Multiple Choice Question

Which of the following is not a method of research ?
M=aT O O STy W UE T9iT F87 = 7
Options :

Survey

AT

Historical

Observation

- A

Philosophical

4% EEIEEI
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Question Label : Multiple Choice Question

Which of the following graphical presentation is two dimensional ?

e O & B AT T & AET § 7
Options :

Pie chart

Bar char‘g
SUE TG

Histogram

5 o T

Box plot

4 s T T
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Question Label : Multiple Choice Question

Correlational Research can be classified from the perspectives of :

FE-HEE ALHIH H OB SR & AT U¥ g A S e

E 7

Options :
Applications of the findings of the research study.
| % S STET F TR F S EEE B AT U7

Objectives of the research study.
5 o 9T FEEE F IEE T AN UL |

Mode of enquiry used in conducting the study.
3 % ATH F FEEE T ITEN F A 9Rl = F GEE F A 07

Outcome of the research.
4 % ST TR FOATER 9T
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Question Label : Multiple Choice Question

A researcher might want to examine the reactions of the general population towards

people in wheelchairs. He/She can study their reactions by sitting in a wheelchair

himself/herself. Such method of collecting data is known as :

e G Bl o i e ol S e T 1 B e e e U e o = e

A= BT AEAT B O9E EW O FEeEET O SS9 3%l OShEAarEd

9

e

Options :
Disguised Observation

1 . ’-53:‘1 ) ] FJ'_‘|

Participant Observation

) PIGE IR R S B



Non- P.nnmp'mt Obser\ ation
3 % IR | )l e )

Self Recording Observation
, w T T S
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Question Label : Multiple Choice Question

Whn,h of the following is are citation/reference style(s) ?
s O T T TEIOT/AE At "TEITLHT' )—/7'—' [4

(A) American Physical Association
YT e AT

(B) Modern Linguistic Association
ore faited TATAs

(C) Oxford Stand'{rd for the Citation of Language Association
AFAFRE TUSE T T HAECsH AF oA TETEans

(D) Vancouver
Choose the correct answer from the codes given below :
g O & ®F-A1 F9E 3 £
Options :
(a), (b}, (c)and (d)
1% @, () () AT (d)

(a), (hyand (c)
5 % (@).(b) AT ()

(a)and (d)
5 % (@A)

(d) only
4 Faa (d)
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Question Label : Multiple Choice Question

One-way ANOVA is used to :
Options :
Determine whether there is any statistically significant difference between the means
of single independent group before and after intervention i
T Fuiva ®ear & % o ow e AgE O 5mET % UEd A7 AR
| % T TIFT (mean) F FTE HIE AMALT TETTIO AT g

Determine whether there are any statistically significant differences between the

medians of two or more independent groups

TE fFuited wear % 0 & o e wmee ToEt § omerEt & Am
5 % THIE HETHA TEEIU AT E

Determine whether there are any statistically significant differences between the
means of two or more independent/unrelated groups
7= fRaia a1 & 7 921 @ @ afas w=mae o aTEeT "OE B oW

3 o (mean) T = FE FAGT TEETO HT F AT S5



Determine whether there are any statistically significant differences between the

squared means of two or more inde pendent group

faffed ®var & % @9 &1 =1 eIfaw Td= FgEr % a9 O (squared
4, % mean) & A" ®E A 1—_7'??-1";‘3'-[ AT E AT FE
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Question Label : Multiple Choice Question

Which of the following principles of experimental design have been enumerated by
Professor R. A. Fisher ?

U fewEa & Fetanog Bemrar O F SiA-he o Geea OreeT
Ao Uo R & FEM I 2 7

(a) Principle of Revision
I W R

(b) Principle of Replication

O
(c) Principle of Randomization
I VR M AN EE P

(d)

Principle of Local Control
A HEA Fw

Choose the correct answer from the codes given below :
S e o #e T F gE 3w g o

Options :

(a), (b) mld (c)
{a), (b) 3T (c)

(a), (h) and (d)

5w (@ (b) FTT (d)

by ic) ft[}d idy
3 (by (c) AT (d)

(a), (c) .’illd (dy
4 = (@, (e AT (d)

Question Number : 25 Question Id : 50939817947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes
Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Read the statements A and B and choose the correct option :
T A HW B U AN #E famer ==

Statement A : Exploratory research studies are also termed as formulative research studies.
FUA A AEUUTEDE AT ATAA B OREE 9T AW 9 HE 56 2

Statement B : Exploratory research study is undertaken with the objective either to explore
an area where little is known or to investigate the possibilities of undertaking a particular
research study.

FAT B : AUVICHE d ATAST W 3w R UH HuF O s w5
ATAT T H AAEATET BT T AT T 2

Options :

Both the statements are true.
1.« Sl FEF T E

Both the statements are false.
o % S FHET AT 2



Statement A is true but B is false.
3 % FTOT A TS E WA BRI

np

Statement B is true but A is false.
4 % FIT BEH T AR A T

e
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Question Label : Multiple Choice Question

Which of the following are the online anti-plagiarism software ?

frEs § F BE-0 SAEEET TE-wihaiied JieaET £ o

(a) Urkund
ITES ,J

(by Owerleat
HATTTE

(c) Turnitin
=Fife

(d) Viper

Choose the correct answer from the codes given below :
I Rw T FE O H AR S ge
Options :

(@), (byand (c)

| % (a), (b) 3T (c)

(a), (b) atld {dy

5 s (@ (b) ST ()

(@), (c) mld (d)

3 {a), (c) 3T (d)

(a) and (c)
4w @ HAT(C)
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Question Label : Multiple Choice Question

Whether a test is one-sided or two-siEled depends on :

T TR T OTRGIHl & A7 & 949 £

Options :

alternative hypothesis

null and alternate both
ST AT IHTH ari

null hypothesis

s w ST i1

either by null or by alternate
4 % TG ST A AHCTH
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Question Label : Multiple Choice Question
Which measure of dispersion do not depends on all observations ?
Telrd BT AT O T AThAl I MUY A= w77
Options :

Root mean & square deviation

]ﬁag—rrmwaﬁ?mﬁﬁwm

Mean deviation
5 w T TEEEE

Quartile deviation
3 ESEEAEERE]

Standard deviation

4'$3L—|=r.51'aaa=r
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Question Label : Multiple Choice Question
If ris the simple correlation coefficient, the quantity /# is termed as :
AT » T3 FEAEE qUNF F, @ E S H FH FH =0 T FHE AR S
Options :
Coe}'ﬁcient of alienation
| % TEHEAERIOT EH IOIE

Coefficient of variation
5 % e =1 o

Coetticient of determination

5 @ IF FEET F IE

Coefficient of non-determination
4 % TTO-TEIOT T 9ME
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Question Label : Multiple Choice Question

A Scattergram is extremely effective :

UF FHoEg HJold I9El ¥ oo

Options :
to show visually how two variables are covering

1 \/i-:lgr:[ Tﬁ“f:l:‘_ :E ff_'r"f ]F—«FJ é\T =7 }T“:‘r Ehd %

in organising the scattered footnotes of the research.
5w MY W T Uil W Faie wme o

in organising the scattered bibliography of the research.
3 % TS ol T B3 09 =1 & A T T

in organising the scattered results drawn afier the rigorous literature review.
y T AET FOE F AE HE T e afeendt $ sEess wE O

4
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Question Label : Multiple Choice Question

The conclusions/findings of which type of research can not be generalized to other
situations ? ) )

R O & &N & uwd BT g uiifoal O qor=iga F8F e AT
qEE 7

Options :
Casual Comparative Research

% FIUTHE oS STrer
1 5

Historical Research

. TR ST
2.

Descriptive Research
3 TS e

Experimental Research

L% OTET T ST
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Question Label : Multiple Choice Question

Which one is called non-probability sampling 7
=fatas © §F ®E T-UTEa afa=Es wmEr S = 7

Options :

Quota sampling

1. %
Cluster sampling
= OiEEEE
2. % ° J

Systematic sampling
. AT /2T Oie=r

Stratified random sampling
T AR E A==

4. %
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Question Label : Multiple Choice Question

In an experimental design, the dependent variable is :
T TANTOE o= O 9T =97 ar =an £ e A
Options :
The one that is not manipulated and in which any changes are observed
FE UAEH /ET0E A8 # Al 37 fAaE B 9T Uiegad # TiET

The one that is manipulated in order to observe any eftfects on the other

2133?1T'-'[I

A measure of the extent to which personal values affect research
fF O ST g ST S J9iad ®ed = 39d OO b F9 O

33311—% TR A= 2



An ambiguous concept whose meaning depends on how it is defined
U G TN g1 AT Johd TAFT F TH UL WY BT §

431’—5.“@%%'17‘34111:1—. SRERIE
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Question Label : Multiple Choice Question

When a group of people with defined characteristics are followed up to determine
incidence is known as :

qEAT W Ui ®me U uiwniue [gSeerdAr g Wi o "JgE E
Options :

Case series
. FA HA=

Cohort

2_VH§|?

Case control
3 % FA T

Experimental

4, % TS
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Question Label : Multiple Choice Question

In the process of conducting research, formulation of hypothesis is followed by :
AT T T OEFTT O, I0ReTAT O & ATHATOT FIAT £ ¢

Note: For this question, discrepancy is found in question/answer. Full Marks is

being awarded to all candidates.
Options :

Statement of objectives

. T B FEA

Collection or data
TAT B/ Hhaad

Analysis of data
T=AT B ST

Selection of research tools
AFHAAE A BT =TI
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Question Label : Multiple Choice Question

Which of the following features are considered as critical in qualitative research ?

frfatae O & ®-91 fGseer qomn® sig % fn mERyel Ol Eer
=



Options :

Collecting data with the help of standardized research tools.
| % THIES ST WIEH T F AEAR F ATHST B OFIE

Design sampling with probability sample techniques.
o % MRS OIS S & TR AT Oiq=es g a5 e

Collecting data with bottom-up empirical evidence.
3 o DEAH AEAEE A T TAT T AHST B AT

Gathering data with top-down schematic evidence.
4% sME-TT= AR d1591 & TART o ATHE] ® HA=9
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Question Label : Multiple Choice Question

Among 25000 individual in a city, 105 were indentified with Covid-19 positive. Calculate
the prevalence of Covid-19 per 1000 population.

OF 9TEY T 25000 FEEET O, 105 HIaE-19 FHATOE F g 38T U T
| o 1000 FAEEAT T7 BITE—19 FT ATTHAT F ITOET Y |

Options :

| % 52

) 4.2
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Question Label : Multiple Choice Question



The following multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :

A ag A = miaes S AW AF & ATguet § e AT @ e
=HE F ADHT HE AT BU 0 qeT B OIET S

Export Earnings
Polished Diamond vs Gold Jewellery

7 polished gold
' diamond jewellery
T 669
. 595
[=]
&
% 500 | 486
: 409 | 06
T T -
5 300 '
2
100 r
| - i e
1990 1991 1992 1993 1994
Year —»

‘What was average em‘ning from gold jewalery over 1990 to 1994 7
1990 # 1994 T U7 AU T A O = 4 7

Note: For this question, discrepancy is found in question/answer. Full Marks is

being awarded to all candidates.
Options :

503.4 Million
|, 503.4 FOferr

501.6 Million
501.6 TORmE=

500 Million
3. 500 foferr

510 Million
510 fofer=
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Question Label : Multiple Choice Question



The following multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :
A ag A = miaes S AW AF & ATguet § e AT @ e
=HE F ADHT HE AT BU 0 qeT B OIET S
Export Earnings
Polished Diamond vs Gold Jewellery

gold
Jjewellery

'''' 7 polished
diamond

TN '."12‘:'
505
Q L g
g
% 500 | 486
g 409 406
= - =
& &=
a 300 +
o -
- =
100

| e ol
1990 1991 1992 1993
Year —»

In which vear the difference of export earning of two types of jewellery is maximum 7
FFe a9 O S e & M O w7 AT SAdadan o o?

Options :
| 1994

5 % 1993

3 % 1991

4 % 1992
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Question Label : Multiple Choice Question
Directions : Study the following table and answer the question given :
Production of different types of scooters in a company
fesr - Te=ifariiga afasr & 9IS HY A Al I A8 #7 O3EE S
OF FIE1 O i 9T & THeT B e

Figures in '000
Year Type of scooters
A B & D E
1992 | 180 | 60 84 | 100 | 76
1993 | 210 | 90 32 80 | 48
1994 1 135 | 30 | 44 | 95 85
1995 | 190 [ 85 69 | 125 | 115
1996 | 260 | 95 [ 120 | 80 | 120
1997 | 240 | 140 | 161 | 90 | 185

What was the approximate percentage of production of A-type scooters in 1995 to its
total production over the years ?

1995 T A-TEU & EHEedl F OIS B OAGONAS OO TEE e 3o
ERELEINCINN

Options :

20
1. %



2.\‘/[5

3 % 23
4 % 40

Subject_& _Area Concerned
Section Id : 509398253
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 180
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 509398280
Question Shuffling Allowed : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A database of research articles in a journal uses the following sche
(VOLUME, NUMBER, STARTPAGE, ENDPAGE, TITLE, YEAR, PRIC
The primary key is (VOLUME, NUMBER, STARTPAGE, ENDPAGE) &
functional dependencies exist in the schema
(VOLUME, NUMBER, STARTPAGE, ENDPAGE) — TITLE
(VOLUME, NUMBER) — YEAR
(VOLUME, NUMBER, STARTPAGE, ENDPAGE) — PRICE
The database is redesigned to use the following schemas
(VOLUME, NUMBER, STARTPAGE, ENDPAGE, TITLE, PRICE
(VOLUME, NUMBER, YEAR)

Which is the weakest normal form that the new database satisfies,
does not?

Options :

. ANF

1.

2NF

2.

3SNF

3. %

. BCNF
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Question Label : Multiple Choice Question

In an Entity-Relationship (ER) model, suppose R is a many-to-or
from entity set E1 to entity set E2. Assume that E1 and E2 particip
and that the cardinality of E1 is greater than the cardinality of E2.

Which one of the following is true about R?

Options :

. Every entity in E1 is associated with exactly one entity in E2

2

Some entity in E1 is associated with more than one entity in E2

Every entity in E2 is associated with exactly one entity in E1

3. %

_ Every entity in E2 is associated with at most one entity in El

4.

Question Number : 43 Question Id : 50939817965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes
Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A relation R = { A, B, C, D, E, F, G } is given with following se
dependencies: F={AD - E, BE - F, B> C, Al -G}

Which of the following is a candidate key?

Options :

A

1. %

,» AB

ABC

3. %

ABD

4.
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Question Label : Multiple Choice Question



Consider the following two tables and four queries in SQL
Book (isbn, bname), Stock (isbn, copies)

Query 1

SELECT B.isbn, S.copies

FROM Book B INNER JOIN Stock S
ON B.isbn = S.isbn:

Query 2
SELECT B.isbn, S.copies
FROM Book B LEFT OUTER JOIN Stock S

ON B.isbn = S.isbn:

Query 3
SELECT B.isbn, S.copies
FROM Book B RIGHT OUTER JOIN Stock S

ON B.isbn = S.isbn;

uery 4
SELECT B.isbn, S.copies
FROM Book B FULL OUTER JOIN Stock S
ON B.isbn = S.isbn;

Which one of the queries above is certain to have an output that is a superset of
the outputs of the other three queries?

Options :

- Query 1

2. % Query— 2
s » Query3

i Query 4
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Question Label : Multiple Choice Question

Consider the following schedules involving two transactions
S, 11, (XN 1, (V) 1, (X); 1y (V); W, (¥); w, (X)
Sy i1 (X);51, (X)s 1, (V) w, (V); 1y (V) wy (X))

Which one of the following statements is TRUE?
Options :

- Both S, and S, are conflict serializable.

. S, 1s conflict serializable and S, 1s not conflict serializable.

v S, 1s not conflict serializable and S, is conflict serializable.
3.

Both S, and S, are not conflict serializable.
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Question Label : Multiple Choice Question

The employee salary should not be greater than Rs. 2000. This is
Options :

|« Integrity constraint

- Over defined constraint

Referential constraint

L Feasible constraint
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Question Label : Multiple Choice Question

For a database relation R(a, b, ¢, d) where the domains of a, b, c and d include only
atomic values, only the following functional dependencies and those that can be
inferred from them hold

a—c
b—d
the relation is in

Options :

LV First normal form but not in second normal form

- Third normal form

Second normal form but not in third normal form

, . None of these
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Question Label : Multiple Choice Question

The current copy of the database is identified by a pointer, called _
is stored on disk.

Options :
L Db-pointer
- Update log

Update log records

L All of the mentioned
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Question Label : Multiple Choice Question

The file organization which allows us to read records that would satisfy the join
condition by using one block read is

Options :

% Heap file organization

5 % Sequential file organization

, v Clustering file organization

Hash file organization

Question Number : 50 Question Id : 50939817972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes
Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question

Which one of the following is FALSE?
Options :
L% There 1s unique minimal DFA for every regular language.

L Every NFA can be converted to an equivalent PDA.

. Complement of every context-free language 1s recursive.
3.

Every nondeterministic PDA can be converted to an equivalent deterministic

, v PDA.
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Question Label : Multiple Choice Question

Which data structure in a compiler is used for managing information about variables
and their attributes?

Options :
" Abstract syntax tree
1. =

, v Symbol table

S Semantic stack

L% Parse table
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Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A deterministic finite automaton (DFA) DD with alphabet ) = {a,b}

a,b

Which of the following finite state machines is a valid minimal DF,
the same languages as DD?

Options :

r_,b &
ORI, 2

2. %

\"/_ fﬁi{, B = b
I'\__>a—b@—b”(%>‘
W

3.
b
a
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Question Label : Multiple Choice Question



Let L1 be a recursive language. Let L2 and L3 be languages that are recursively
enumerable but not recursive. Which of the following statements is not necessarily
true?
Options :

v L1 — L3 is recursively enumerable.

- L2 — L1 is recursively enumerable.

. L2 N L1 is recursively enumerable.

L L2 U L1 1s recursively enumerable.
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Question Label : Multiple Choice Question

If w 1s a string over (0+1)*, then let n (w) denote the number of 0’s in w and n, (w)
denote the number of 1’s in w. Which one of the following languages is not regular?

Options :
w L = { we(0+1)*|n,(w) 1s a 3-digit prime }
-~ L = {we(0+1)*|ny(w)-n,(w) < 4}

; x L= {we(0+1)* | n,(w) mod 7 = n, (w) mod 5=0}

<91

L = { we(0+1)*|for every prefix w’ of w, | n (w)-n (W)

4,
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consider the languages L1 = {a%%P|p, q > 0} and L2 = { a%bPc?|p,q >0}
Which one of the following statements is false?
Options :

L1 N L2 is a context free language.

. L1 UL2 is a context free language.

2.
L1 and L2 are context free languages.
3.
L% L1 N L2 is a context sensitive language.
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Question Label : Multiple Choice Question



A shift reduce parser carries out the actions specified within braces immediately
after reducing with the corresponding rule of grammar

P — aaA {print “17%}
P — b {print “27}
A — Pc {print “3%}
What 1s the translation of aaaabcc using the syntax directed translation scheme
described by the above rules?
Options :
| = 11233

) 11231

33211

3 %8

L 23131
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following problems is/are undecidable?
() Gis CFG. Is L(G) = @?
(1) Gis CFG. Is L(G) =>*?
(iii)) M is a Turing machine. Is L(M) regular?
(iv) Ais a DFA and N is an NFA. Is L(A) = L(N)?
Options :
L% (111) only

5 % (ii1) and (iv) only

. (1), (1) and (111) only

v (1) and (1) only
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Question Label : Multiple Choice Question

The grammar A — aAa | bA | cis
Options :
LL(1) but not LR(1)
, » LR(1) but not LL(1)

, » Both LL(1) and LR(1)

Neither LL(1) nor LR(1)
4, %
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Question Label : Multiple Choice Question

How many 3-to-8 line decoders with an enable input are needed to construct a
6-to-64 line decoder without using any other logic gates?

Options :
1. % 7

3.338

4 % 10
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

How many flip-flop circuits are needed to divide by 167

Options :
L= 16

2. % 8
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Question Label : Multiple Choice Question

During opcode fetch, the state of SO and S1 1s

Options :

v 11

00

2. %

01

3. %

L% 10
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Question Label : Multiple Choice Question

(1217), 1s equivalent to



Options :
(1247,

. (028F),,

. 4 (0B17),
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Question Label : Multiple Choice Question

In addressing mode, the operands are stored in the memory. The address of
the corresponding memory location is given in a register which 1s specified in the
instruction.

Options :

|« register direct

o o sawe s
, » register indirect

; » base indexed

e displacement
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following in 8085 microprocessor performs HL = HL + HL?
Options :
DAD D
1%

, » DAD H

.« DADB

DAD SP
4. %
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Question Label : Multiple Choice Question

The instruction — Add LOCA, RO does
Options :
- Adds the value of LOCA to RO and stores in the temp register



) % Adds the value of RO to the address of LOCA

- Adds the values of both LOCA and RO and stores it in RO

. Adds the value of LOCA with a value in accumulator and stores 1t in RO
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Instructions which won’t appear in the object program are called as
Options :

. Redundant instructions
1.

5 % Exceptions

; » Comments

i Assembler Directives
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In memory interleaving, the lower order bits of the address is used to

Options :
. Get the data
1.

, v Get the address of the module
, « Get the address of the data within the module

, » None of the mentioned
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Consider the following C program
#include<stdio.h>
struct Ournode{
CHEER, Y, 2

int main( ){

struct Ournode p = {1’, ‘0’, ‘@+2 };
struct Ournode *q = &p;
printf (“%c, %c”, *((char*)q+1), *((char*)q+2));
return O;

h

The output of this program is
Options :
L 0, &

, % 0, at2
3 % Coi, (a+2’

Tat e
4% 0,7
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Consider the following program
#include<stdio.h>
main( )
{
int 1, inp;
float x, term=1, sum=0:
scanf(“%d %f”, &inp, &x);
for(1=1; 1<=1np; 1++)
{
term = term * x/1;
sum = sum + term;
h
printf (“Result = %ifn”, sum);

}

The program computes the sum of which of the following series?

Options :
v x X
Y —+—+
2 3 4

2



2 =3 A
X X X
s
21 31 41
2.
372 x3 x4
e e e
. 3 4
2 A‘3 4
21 31 4!
4. %
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Consider the C code fragment given below
typedef struct node {
int data;
node* next;

} node;

void join (node* m, node* n){
node * p = n;
while (p->next != NULL)
P = p-> nexy;
h
p->next = m;

}

Assuming that m and n point to valid NULL terminated linked lists, invocation of
join will

Options :

. Append list m to the end of list n for all inputs

2.

Either cause a null pointer dereference or append list m to the end

Cause a null pointer dereference for all inputs

3. %

L Append list n to the end of list m for all inputs
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A three dimensional array in ‘C’ is declared as int A[x][y][z]. Here,
an item at the location A[p][q][r] can be computed as follows (where
length of an integer)

Options :

_ &A[O][0][0]+w(y * z* q +2 * p + 1)

_ &A[O][O][O]+w(y * z* p +z * q + 1)

2.

L &AO][O][0]+W(x *y “ P +2* q + 1)

&A[O][O][0]+w(x *y *q +z* p + 1)

4%
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Consider the following C program
void f(int, short);
void main( )
{
inti= 100;
short s = 12;
short *p = &s;
; // call to {{()

}

Which one of the following expressions, when placed in the blank above, will NOT
result in a type checking error?
Options :

fls,*s)

1. %

i=1,s)

2. %

f(i,*s)

3. %

, fli*p)

4.
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The associativity of which of the following operators is Left to Righi



Options :
L x Unary operator

Logical not

, v Array element access

Addressof
4 %
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What will be output if you will compile and execute the following C language code?
struct marks{
int p:3;
int c:3;
int m:2;
¥
void main( ){
struct marks s = {2,-6,5};
printf (“%d %d %d”, s.p, s.c, s.m);
H

Options :

2-65
1. ®

2. %

3.

Compiler error
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What will be output if you will compile and execute the following C language code?
void main( ){

int i;
float a = 5.2;
char *ptr;

ptr = (char *)&a;
for (i=0, i<=3; i++)
prinf(“%d”, *ptr++);
}
Options :
, x0000

GarbageGarbageGarbageGarbage

102 56 -80 32

3. %

102 102 -90 64
4.
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What will be output if you will compile and execute the following C language code?
#include “string.h”
void main( ){
clrscr( );
printf(“%d %d”, sizeof(“string”), strlen(“string”));
getch( );

}

Options :

66

1. %

2w 17

67

3 %8

76

4.
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What will be output if you will compile and execute the following C language code?
int extern x;
void main( )

{
printf(“%d”, x);
x=2s
}
int x = 23;
Options :
L% O
2.% 2
5 % 23

Compiler error
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A hash table with 10 buckets with one slot per bucket is depicted in Figure. The
symbols, S1 to S7 are initially entered using a hashing function with linear probing.

The maximum number of comparisons needed in searching an item that is not
present is

S7
S1
sS4
S2
SO
S6
S3
Options :
1. # 6
2. % 4
3.¢ 5
3
4. %
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Question Label : Multiple Choice Question

Let W(n) and A(n) denote respectively, the worst case and average ca
of an algorithm executed on an input of size n. Which of the follov
TRUE?

Options :

. AM) = OW(n))
. A(n) = ©(W(n)
., A(m) = O(W(n)

A(m) = o(W(n))
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Consider a hash table with 9 slots. The hash function is h(k) = k mod 9. The
collisions are resolved by chaining. The following 9 keys are inserted in the order:
5, 28, 19, 15, 20, 33, 12, 17, 10. The maximum, minimum and average chain
lengths in the hash table, respectively are

Options :
L 3,0and 1

3,3and 3
2. %
,x 4, 0and 1

3, 0 and 2

4. %
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Question Label : Multiple Choice Question
A program attempts to generate as many permutations as possible of the string,
‘abced’ by pushing the characters a, b, ¢, d in the same order onto a stack, but
it may pop off the top character at any time. Which one of the following strings
CANNOT be generated using this program?

Options :

abced

1. #

- dcba



cbad

cabd

4. &
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Question Label : Multiple Choice Question

Consider the following pseudocode. What is the total number of multiplications to
be performed?
D=2
fori=1tondo
forj=itondo
for k = j+1 ton do
D=D*3
Options :

Half of the product of the 3 consecutive integers
One-third of the product of the 3 consecutive integers

w One-sixth of the product of the 3 consecutive integers

, . None of these
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Question Label : Multiple Choice Question

A queue is implemented using an array such that ENQUEUE and DEQUEUE
operations are performed efficiently. Which one of the following statements is
CORRECT (n refers to the number of items in the queue)?

Options :

L Both operations can be performed in O(1) time.

At most one operation can be performed in O(1) time but the worst case time
- for the other operation will be Q(n).

, » T'he worst case time complexity for both operations will be Q(n).

Worst case time complexity for both operations will be Q(logn).
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Question Label : Multiple Choice Question



The worst case running times of Insertion sort, Merge sort and Quick sort,
respectively are:
Options :

- ®(nlogn), ®(nlogn) and ©(n?)
. Bm°), ®©(n°) and G(nlogn)
L. ®m?), B(nlogn) and Ofnlogn)

v 8(n?), ®B(nlogn) and BMn°)
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Question Label : Multiple Choice Question

The minimum number of arithmetic operations required to evaluate the polynomial
P(X)=x>+4x3+6x+5 for a given value of x using only temporary variable

Options :

6

1. ®

20 7

3. % 8

9

4. %
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Question Label : Multiple Choice Question

Which one of the following is the tightest upper bound that represents the time
complexity of inserting an object into a binary search tree of n nodes?
Options :

O(1)

1. %

- O(log n)
, » Om)

O(n log n)
4,
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The following are some events that occurs after a device controller issues an
interrupt while process L is under execution

(P) The processor pushes the process status of L onto the control stack

(Q) The processor finishes the execution of the current instruction

(R) The processor executes the interrupt service routine

(S) The processor pops the process status of L from the control stack

(T) The processor loads the new PC value based on the interrupt

Which one of the following is the correct order in which the events above occur?
Options :

., QPTRS

PTRSQ

2. %

.. TRPQS

_ QTPRS

4
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Question Label : Multiple Choice Question

Consider a process executing on an operating system that uses demand paging.
The average time for a memory access in the system is M units if the corresponding
memory page is available in memory and D units if the memory access causes a
page fault. It has been experimentally measured that the average time taken for a
memory access in the process is X units. Which one of the following is the correct
expression for the page fault rate experienced by the process?

Options :

o (D—M)/(X—M)
v (X—=M)/(D—M)

. D—X)/D—M)

L X—M)/D-X
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Question Label : Multiple Choice Question



In a system, there are three types of resources E, F and G. Fou
Pl, P2 and P3 execute concurrently. At the outset;, the processe
their maximum resource requirements using a matrix named Max
For example, Max[P2, F] is the maximum number of instances of .
require. The number of instance of the resources allocated to the ve
at any given state is given by a matrix named Allocation.

Consider a state of the system with the Allocation matrix as sl
in which 3 instances of E and 3 instances of F are the only resourc

Allocation Max

E F G E F
PO 1 0] 1 PO 4 3
P1 1 1 2 Pl 2 1
P 1 0 3 P2 1 3
P3 2 0 0 3 5] 4

From the perspective of deadlock avoidance, which one of the follo
Options :

- The system is in safe state.

The system is not in safe state, but would be safe if one more instance of E
., were available.

The system is not in safe state, but would be safe if one more instance of F
, « were available.

The system is not in safe state, but would be safe if one more instance of G
, » Were available.
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Let m|[0]...m[4] be mutexes (binary semaphores) and P[0]...P[4] be processes.
Suppose each process P[i] executes the following

Wait (ml[i]); wait(m[(i+1) mode 4);

release (m[i]); release(m]|(i+1) mode 4);

This could cause

Options :



- Thrashing
) Deadlock

- Starvation, but not deadlock

, . None of these
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Question Label : Multiple Choice Question

Which of the following statements are TRUE?
[. Shortest remaining time first scheduling may cause starvation
II. Preemptive scheduling may cause starvation
[II. Round robin is better than FCFS in terms of response time
Options :
- I only

-~ I, Il and III

[ and III only

IT and III only
4. %
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Consider a system having m resources of the same type. These resources are shared
by 3 processes A, B and C which have peak demand of 3, 4 and 6 respectively. For
what value of m deadlock will not occur?

Options :

1. % 7
2% 9

, v 13

10

4. %
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Which two of the following are true regarding the distance-vector and link-state
routing protocols?

(a) Link-state sends its complete routing table out all active interfaces on
periodic time intervals

(b) Distance-vector sends its complete routing table out all active interfaces
on periodic time intervals

(c) Link-state sends updates containing the state of its own links to all routers
in the internetwork

(d) Distance-vectors sends updates containing the state of its own links to all
routers in the internetwork
Options :
- (a) only

. (c) only
(b) and (c) only
3 %

W (a) and (d) only
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Question Label : Multiple Choice Question

A tree with n vertices is called graceful, if its vertices can be labelled with integers
1, 2, ..., n such that the absolute value of the difference of the labels of adjacent
vertices are all different. Which of the following trees are graceful?

& & & .

@ T

O T

@ l —

Options :

- (a) and (b)

- (b) and (c)

. (@), (b)and (c)

(a) and (c)
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Question Label : Multiple Choice Question



Which of the following statement(s) is/are FALSE?

[. A connected multigraph has a Euler Circuit if and only if ea
has even degree.

II. A connected multigraph has an Euler path but not an Eul
only if it has exactly two vertices of odd degree.

IT1I. A Complete graph (Kn) has a Hamilton Circuit whenever 1

IV. A cycle over six vertices (C6) is not a bipartite graph but a
over 3 vertices is bipartite.

Options :
- [ only

I and III

2. %

, » Hlonly

IV only
4.
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Question Label : Multiple Choice Question

The end points of a line are (O 0) and (6, 18). Compute each value of y as x steps
from O to 3, by using equation of straight line

Options :

L@ Forx=0, y=:x= 1, y=2dx=2,y=B8x=3,. 39

, x FOrE=0,5s a= Ly =8pes0,ysdpe= 8,959

,x Farx=0y=Ez~1,y % x=2, 3y 6x=8,y=9

Lo Frx=0,y=0;x=1,y=3x=2,y=4x=3,y=6
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Question Label : Multiple Choice Question



In a TDM medium access control bus LAN, each station is assign
per cycle for transmission. Assume that the length of each time
transmit 100 bits plus the end-to-end propagation delay. Assum
speed of 2 X 10® m/sec. The length of the LAN is 1 km with a t
Mbps. The maximum number of stations that can be allowed in the
throughput of each station can be 2/3 Mbps is

Options :

L% 3

2% 5

;¢ 10

20

4,
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Question Label : Multiple Choice Question

For a host machine that uses the token bucket algorithm for con

the token bucket has a capacity of 1 Megabyte and the maximun

20 Megabytes per second. Tokens arrive at a rate to sustain outpu

Megabytes per second. The token bucket is currently full and the

to send 12 Megabytes of data. The minimum time required to tran
seconds.

Options :

Sl

0.1

2. %

Ll |

3. %

2.0

4. %
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Question Label : Multiple Choice Question

Which of the following is not a key issue stressed by an Agile philosophy of software
engineering?

Options :

The importance of self-organizing teams as well as communication and

- collaboration between team members and customers



. Recognition that change represent opportunity

s Emphasis on rapid delivery of software that satisfies the customer

Having a separate testing phase after a build phase
4.
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Question Label : Multiple Choice Question

Which of the following statements are TRUE?
[. The context diagram should depict the system as a single bubble.
II. External entities should be identified clearly at all levels of DFDs.
III. Control information should not be represented in a DFD.

IV. A data store can be connected weather to another data store or to an
external entity.

Options :
|4 Iand III

, « Tand IV

- I and III

[, IT and III



